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We had come to the end of another term. There was a long holiday before us. My friends and 1 decided 10 try something
new...
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KCPE 2006 gncLisi
SECTION A: LANGUAGE

Questioss 1 to IS Time: 1 bour 40 minotes

Read the passage below. r;mwmsmmn For each blank space, nhmtbrhutdmmtmﬁom
the choices given.

When some people shower us with praise, we feel very flattered, _1__ we? In our delight, we forget that
—2 _ people may have bad intentions __3__ us. Take the story of the crow _4__ the fox, for example. The
hardworkmgaowhadmmpd!osmwhapmeafwmmutfromthcbutchu'm Upshe _§ _ with it into -
the branches of a tall tree, intending to sanjoy her _6._.

'I'hcl‘oxhadbemwnzchmgallth:smﬂlawamnngmomhfurlumlywmmdm_mecefor
himself. He therefore planned his approach very _8 . “Oh crow,” he said, “your eyes shine ~9__ than all
the stars. Andyourmctls_ﬂ_heauhfnﬂylung.anwxmmyﬁmﬂ._ﬂ_bcmon graceful!” The fox
continuéd, “But alas! How unfortunate _12__ you were born dumb. [ am sure yours would have been a
melodious _13 _ " The crow was pleased with the flattery. However, she was annoyed that the fox thought
she could not sing. She therefore wanted to _1&__ the fox She opened her mouth to sing and the meat
dropped right 15 _ the waiting mouth of the fox.

LA do B. don't C. are D. aren't
2. A. some B. many C. most D. such
3. A. towards B. to C. against D. for
4. A or B. against C. and D. with
5. A. flies B. fly C. flown D. flew
6. A. reward B. prize C. award D. price
7. A. -nice B. good C. juicy [;. sweet
8. A carsfully B. quickly C. seriously D, quictly
9, A. better B. brighter C. best D. brightest
10. A. © B. very ‘C. quite D. rather
11. A. shouldn't- B. wouldn’t C. mustn't D. couldn't
12. A. as B. Swce C. that D. for
13. A tuné B. sound . C. voice . D. song
14. A. surprise B. shock C. astonish D. amaze
B. iato C..to° - D. down

15. A. in






For questions 16 o 18, select the alteraative that best
completes the sentence. =

16. mmummmhmmm
uwwhoL

For questions 19 to 21, select the aiternative that means the
m-rkmmm

19. Njeri works very hard in spite of the fact taat she is

20, Wmmmbd‘tommﬁmehehsd
lost.

i

in a hurry 4o wind up the mesting,

N
pow?%'powr
§§§§§

In questions 22 and 13, choose the aliernative that means
the same 28 the underlined sentence.

ambulance icam, the petiont would not have
survived.
A. The ambulance team responded quickly and the
patient survived.
If the ambulance team had responded qmd.ly
the patient would have survived.
Because the ambulance team responded quickly
the patient survived. :
. If the ambulance team responded quickly the
patient would not have survived.

w

"o O

A M“mﬂmlmmdhwonlyfw
breaking the law, deliberately.

B. Whether people break the law or not, they are
punished in a court of law.

C. People get puished in a court of law whether or

- not they were aware of the law they broke.

D. People who get puhished in a court of law
ticither have broken a law nor are they aware of
it :

For questions 4 and 25, choose the best arrangement of the
given sentences o make o sensible paragraph.

24. (i) People with diabetes pre advised 10 eat a special
diel that will sither increase or reduce the sugar
levels. :

(ii) In one there is excess sugar in the bloodstream
while in the other there isn't enough.

(iii) The disease appears in two different forms.

(ivy Diabetes has become a serious world problem.

A (i) () G i)
B. (i) () G) i)
C. (V@ 6) (@
D, () @) () ®

25. (i) Pupils who pass examinations are those whe are

both diligent and disciplined.

(ii) Studying involves both discipline and diligence.

(iif) Discipline, on the other hand, requires planned,
regular and persistent preparation for lessons as
well as continuous revision of work covered.

{iv) Diligence refers to the care, determination and
hard work a pupil puts into the study,

A (i) (i) G) (iv)

B. (i) () G} (iv)

C. (i) (iv) i) ()

D. (i) () Gv) (i)



Read ihe following passage and answer questions 26 to 38,

Last December, Fulora and her brother Jakobo spent the holidays at their uncle's home. One thing they
loved here was the large space in which they could play as much as they wished. Furthermore, Uncle Samba
did not mind their playing all day; much of the housework was done by the househelp.

Itwasth:hstdayofthehohdayundthetwohddeadedtomjoythcmadmasmmhaaposslblemthc
little time left. They were too busy playing with a ball to notice the mother hen together with her seven chicks
feeding nearby. Suddenly, one of the chicks let out a feeble sueak and lay lifeless. Fulora had thrown the ball
which had hit the young bird rather hard.

“Fulora, you have killed it! What will you say?” whispered Jakobo after looking in all directions to ensure
no one was watching. Fulora, who was trembling with fear, said she would explain everything to Uncle Samba
and apologise. But Jakobo would hear none of it. “If you do that, we shall never be allowed to set foot here
again. The best thing to do is hide the chick and pretend nothing has happened.” Fulora nodded in agreement
and a deal was sealed. Not a word was to be spoken to anyone about the ball and chick incident.

" Little did Fulora realise that she had sold herseif into slavery.. Whenever Jakobo had any task he did nol
feel like performing, he demanded that Fulora do it. Any protests from her were met by the words: “The ball
and the chick, remember?” Feuringthntherahamdiﬂudwouldbeupoud,sh:wmddmryoutthcmk

- without further complaint.

SoonFulorawasdomgaluwstallo”akobo’sworkatwhmlmdathomWbmhcmhcrdomgher
own work, he assumed she was idle and immediately came up with a task she had to do. Fed up with this
arrangement, Fulora one day made up her mind to free herself from the chains of guilt. She chose a2 moment
when her brother was away and her mother seemed to be in high spirits, and told her everything.

“My dear, [ already know about the incident. Uncle Samba told me all about it. He saw everything
happen from his bedroom window. I have been waiting to see whether you are as honest as you claim to be.
Now I'm glad you've confessed,” Mother said sweetly. “What has upset me, however, is the fact that you have
allowed- your brother to blackmail you for all this time.” After apologising and thanking her mother for
understanding, Fulora felt as if she had suddenly been relieved of a heavy load.

ThatmnslakobownehomeanddmandedthuFmonmkeoﬁ'hnshmﬁ'omhmfutHeclauned
he had walked for a long distance and was dog-tired. Fulora ignored him. He began his usual threats but all

this fell on deaf ears.

5 “Mimmy will know today that you murdered Uncle Samba’s chick!™ he thundered, walking out of the
room.

Seething with anges, Jakobo stormed into the living room where his mother was reading. He tned to speak
but words deserted him. The look on his face told her something was terribly wrong. “What is it?”" she
inquired. Before he could utter a word, there was a knock at the door and in came Mr Mambo, their
classteacher. He broke into a broad, cheerful smile on secing his pupil, whose face immediately lit up.

“Mama Jakobo,” Mr Mambo said after settling down to a warm cup of tea. “I have come to congratulate
youonthcgoodworkyonha\edone;ygm'mhasnnpruvedmhudasmhﬂehasmmughtupmthhs
sister.” Jakobo's mother did not know what to say.






26. What did the children hke most about Uncle
Samba’s home?
A. All the housework was done by the househelp.
B. They liked spending their holidays there. -
C. “Uncle Samba did not mind them playing there.
D. It had a large playing space.

27. Why didn't the children notice the mother hen and
her chicks? :
A. They were too involved-in their game.
B. There was fittle time left.
C. They had decided to enjoy

thoroughly.
D. It was the last day of the holidzy.

themselves

28. The word "fwbk"asmedmthepassagemnns
A. dying.
B. soft. -
C. weak.
D. slow.

29. Why do you think Jakobo whispered?
A. He could not talk aloud.
B. He thought someone might hear them.
C. He did not want to frighten Fulora.
D. He was full of fear.

30. According to the fourth paragraph

A. Fulora sometimes refused to do Jakobo's work.

B. Jakobo sometimes did his work himself.
C. Fulora became a slave unconscicusly.
D. Jakobo met Fulora whenever she protested.

31. Why did Fulora decide to expose the incident?
A. Her mother was in high spirits. :
B. Her brother was away.
C. She wanted to reveal everything,
D. She was tired of being blackmailed by Jakobo

32. Jakobo came up with a task for Fulora when
A. she appeared idle. -
B. she tried to do her own work.
C. he had work at school or at home.
D. he saw her working.

33. Why was Fulora's mothcr glad that she had

confessed?

A. She had been waiting for a long time for Fulom
to confess.

B.. She now knew that Fulora was as honest as she
had claimed to be.

C. She already knew the whole truth.

D. She now knew Fulora would not be blackmailed
anymore.

34. why did Fulora ignore Jakobo when asked to
remove his shoes?
A. She knew he was not dog-tired.
B. She was now fed up with his threats,
C. She knew he had no power over her.
D. She was used to his usual threats.

35. Jakobo usés the word “murdersd” to suggest that
Fulora killed the chick
A. and kept quiet.
B. deliberately.
C. with the ball,
D. carelessly.

36. Which of the -following best explains why Jakobo
was seething with anger?
A. His sister had betrayed him.
B. He tried to speak but words deserted him.
C. He thundered out of the room.
Dﬂmmlﬂdmfusedlocm'yuuthls
instructions.

37. In the last paragraph, why didn't Jakobo’s mother
“know what to say"™? She knew
" A. Jakobo was blackmailing his sister.
B. she hadn’t done any work. ;
C. Jakobo's performance hadn't really improved.
D. that the classteacher was ignorant.

-38. The most important lesson we learn from this story

is that

A. it is always good to be honest.
B. blackmailing others is wrong.

C. mistreating ong’s sister is unfair,
D. it is always wrong to hide things.



Reud the passage below and then answer questions 39 to 50.

There is no doubt that the taste, flavour and appearance of food have greal influence on our desire for the
food, or appetite. Most foods can be made more attractive by adding a wide rangc of spices, which also
stimulate the flow of digestive juices and consequcntly improve digestion.

In many communities today, spices are used in much smaller quantities and are not considered as
important as they were a hundred years ago.

Back then, most people did not have as wide a range of food as we have today. For this reason, la.rgc
quantities of spices were essential to give variety to the monotonous salty flavour of food. In addition, spices
were also used for medicinal purposes. Common ailments such as influenza and mild stomach upsets were
dealt with using different kinds of those food additives.

Spices were probably first introduced to different parts of the world by Arab merchants; indeed Arabia
was for a long time regarded as the home of spices. However, in actual sense, most of the spices first came
from Southern [ndia and the Moluccas or Spice Islands.

Spices originate from plants and can be classified according to the part of the plant from Whlcl'l they are
derived. We have fruit spices, of which pepper is the most widely-used. Most of us-probably associate pepper
with that Hot, stmgmg feeling which some people love. It is, however, important to note that there are different -
varieties of this spice, some of which have no “hotness” at all. Seed spices are made from ground plant seeds.
These kinds normally add more colour than flavour to food, the best known being mustard.

The buds and stigmas of certain plants can be dried and ground to give us flower spices. These give our
food a strong aroma and a desirable taste. Cloves are the best known in this category. The bark of some plants
is removed and prepared to make bark spices such as cinnamon which is used to flavour cakes. Lastly, the
lowest part of the plant, the root also contributes to the world of spices by giving us root spices. These are also
known. for their medicinal value. Ginger is the best-known root spice. .

Today, spices are packed and sold under different trade names, and some are mixed to come up with a
blend. It is therefore advisable to know the ingredients of that packet of spices you waat to buy to avoid
wasting your money on a spice you did not intend to have on your table.






39. Digestive juices are important because they improve
our -
A. appetite.
‘B. digestion.
C. range of spices.
D. desire for food.

40. From the passage we learn that the taste. flavour
and appearance of food :
A..make it more attractive to us.

B. determine our choice of spices.
C. influence our appetite.
D. are important aspects in our diet.

41. Which of the following does mot explain why spices
were used more frequently a hundred years ago?
A. The food was monotonous then.
- B. People had a limited variety of food.
C. Spices were also used for medicinal purposes.
D. Spices added a new taste to common food.

42. According to the passage, Arab merchants
A. traded in spices.
B. came from Southern India.
C. stored and blended spices.
" D. were the first to use spices,

43, “Derived™ as used in the passage means:
A, found.
B. removed.
C. obtained.
D. produced.

- 44, Which of the following is closest in meaning to the

word “monotonous” as used in the passage?
A. unpleasant.

45, Pepper is given as an example of 2
A. hot stinging feeling. -
B, fruit spice.
C. " widely-used spice.
D. spice some people love.

46. Which of the following is true about seed spices?
A. They are best known as mustard.
B. They do not add flavour todood.
C. They can be found on the ground.
D. They make food more attractive,

47. How are cloves similar to cinnamon?
A. They are both from buds and stigmas.
B. They are used to flavour cakes.
C. They are the best-known ?us
D. They both add flavour to foed.

48, Which of the following is true of root spices? They
A. are the lowest part of the plant. :
B. must be dried first.
C. can cure some ilinesses.

D. are a type of ginger.

49, Why is it necessary to know the ingredients of
packed spices before buying them?
A. You might waste your money.
B. You nesd to know if they are mixed. -
C. Spices are sold under different trade names.
D. To avoid purchasing what you did not intend.
to. ‘ '

50. What do we learn zbout spices from this passage?
A. Some do not.change the taste of food.
B. Most of them are blends.
C. Most of them are grown outside Africa.
D. Some are made from plants.
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SEHEMU YA PILI: INSHA
Wuds: Dukiks 40
SOMA MAAGIZO HAYA KWA WMAKINT
i}machwa hapo juu andika Namba Yako kamili ya mtibani, lina lake na Jina la Shule yako.

|. Kwenye nafasi z

2. Sasa Fungopa karatasi hii, soma kichwa cha insha kwa makini na uandike insha yako kwenye nafasi uliyoachiwa.

Ursepewa dakika 46 kvandiks inshm yako.
Andika insha isivopungua ukurasa mmaoja na nusu ill: ya kichwe kifuatacho: -
Malizia kwa: Sherehe zilip omalizika oilirudi nyumbuai-pikiwa na furaha tele.

Kijitabu ki kiva kurasa 4 cifzopigwa chaps. -
© The Kenypa Narional Examinations Council, 2006.






KCPE 2006

" KISWAHILI .
SEHEMU YA KWANZA: LUGHA

' e o \ . : . Mods: Sas | dakiks 40

Soma vifungu vifuatavyo. vina nafasi 1 mpaka 15. Kwa kila nafasi umepewa majibu manne hnpn Chagua__
jibu lifaalo z:ddl Kati ¥a yale uliyopewa.

| D.
.8 . B Hadi C. tangu D. Io.
3. A alipofunzwa B. alikofunzwa C. ik m“ : D. I-'- "
4. A kuchelewa B. kupenda C iitachioles B s
5. A -hawed B hhlm C. hazwem Dw
6 A mciooka B mmeoruhws  C. mmetorckes D smetorosha
T e . B. W" c “I.F’ﬂ"l D. b .

i e g el
9. A hailetei B. haileti C. hayaileti D. bayuietei
i B clnmawe c. w D. namm

l]l. A bali -B. mbak C. 2 D. w

12, A Baina- B. Baadhi C. Kat D. Zaidi
13. A kuummiu B. kutoduymu . mm 'D._ knduami
s B. Hai C. Higo D. Hay

oA e B. o T @ o



Kutoka swali la 16.mpaka 30, chagua jibu lililo sahiki.

16, “Ki” imetumiwaje katika sentensi: Mweni -
lipokija alinipaia nikifye} :
A. Kuonyesha hali ya masharti -
B. Kuonyesha bali ya kukanusha
C. Kuonyeshs hali ya kuendelea:
D.Kmnyeshahnhyuudogo

17. ha Sontensi: ipi sahihi?
Nd 1.; m*.!oletwa ni L.ng-..

:.,.Jm iliyopunuliwa ni zuri
Wema unaozungumziwa ni huu

8. M!ongummwanehqlminmzamwﬂ;.msehmn
- ipi iliyo tofauti na zingine?
A. Paja ,
B Kw

DGou

19, Polepole, Vibaya, Alasiri, Njiani, ni
A. Vielezi
B. Vivomishi -
C. Nomino
- D, Viwakilishi

20. Methali inayotoa funzo kuwa: Jambo
.linaloonekana zito kwa mwu:gme kwm kuwa
rahisi kwako, ni:

A. Bahati ya mwenzio usiilalie mlango wazi

'B. Mzigo wa mwenzio ni kanda la usufi

-C. Kila mwamba ngoma ngozi huvutia kwake

D. Ganda la muwa la jana chungu kaona
kivuno.

21. Senténsi “Asingalikwenda kwake  asubuhi
asingalimkuta™ ina maana kuwa: -
A. Hakuenda kwake asubuhi lakini alimkuta .
- B. Alicnda kwake asubuhi lakini hakumkuta
C. Alienda kwake asubuhi na akamkuta
D. Hakuenda kwake asubuhi wala hakumkuta

22. Ni maneno yapi ambayo yote ni viunganishi?
A. ila, ingawa, lakini, maadamu
B. huyu, hao, ovyo, na
C. la, lakini, DEEGWE
D, ingawa, isipokuwa, zuri, safi

23. mvmmuhanfakumkmnahtenmanm

A.. Amzx
B. Angazia

C. Angayu
D. Angalau

B

24. % kwa maneno ni:

A.Submm
B. Thumuni saba

"~ C. Subui

D'l'hmnuni

'Knawecha.nenohimhamm :

A, -Banati
B. Kijana
C. Wivulana
D. Shsaibn

Nomino habari iko katika ngeli ya:

A U-Zi

B. 1-1
C U-I

D.i-Zi

T-nmkwaClnhl.llﬂhmkwn
A. Pesa :

B. Funguo

C. Ndiz

D. Ngozi

Haya ni maumbo gani?

AL

A. Pembe tatu, Mche, Duara

B. Pia, Mcheduara, Nusuduara
C. Pia, Mchemraba, Mcheduara
D. Pembe tatu, Pia, Nusuduara

Chagua usemi halisi ufaao wa: .
Babati alissma kuwa angeenda nymnbam

kupumzika

A. “Nimeenda nyumbani kupumzika”, Bahati
alisema

B. “Niende nyumbani kupumwzika”, Bahati
alisema ,

C. “Nitaenda nyumbani kupumzika”, Bahati
alisema '

7 D, *Nilienda*syumbani kupurziks”, Baliati

alisema
Yapange maneno yafuatayo l:ulmga.nn na jinsi
yanavyotokea katika kamusi:
(i) Bandika (ii) Beua
(iii) Birika (iv) Baidika
A. (i) Gv) (i) (i)
B. () @) (i)
C. i) @) (i) Gv)
D. (iv) (i) (i) Gi)



Soma taarifa hii kisha ujibu maswali 31 mpaka 40.

Huko Tujueni aliishi mty kwa jina Mkazeni, Mkazeni alikuwa maarufu katika kutsbiri adote. Alijulikana
pia kwa kuyadadisi mambo yaliyoznks humo kijijini mwao. Kmhkuﬂmhmhamhloahwnhmbﬁa

malipo.

Wakauﬁﬂmhﬂmahﬂahmkmhﬂikmumnummhamhyoyahkm
vakisimamishwa' humo kijijin: :Madeseva wake walikuwa watu waliojaa wadudu fele miilini. Madereva bso
mmmmmmmw*mwﬁmmmw

hpummhnyoygﬁnmwahmanramyahmmm akmmaklﬁnmuhmmkmmm
yake. Alfjitabidi kuihimiza aila yake knbrsu wnnhiote wa tabia njema.

S&unymmeﬁmaho&ndﬂoknmhukommkmmjuhmmommm
Ingaws wanakijiji walikuwa wamempuuza bapo awali; aiiwafafsnufia ndoto hiyo nao wakazidi kumcheka.
“Sasa tena utabiri omeleta mambo ya nyeka? Tangn uzaliwe nmewahi kumwona nyoka kama huyo?” Hapo

Mkazeni akaoua amédharauliwa kupita kissi, akaamws “lujimezes” utabiri wake mwenyewe, lake fiwe ficho
fo. Watu ambao waliamua kutojihadbar kabla va hatari, angewafsaya nini? Kidole kimoja: kingevunjaje
chawa?

Mmm&nﬁu,myo‘mmmm;aﬁmmmmmmumm
mapumzito. Madereva wakaiona schemu hiyo ikiwa na starehe nyingi. Tujueni ikajulikans. Biashara
madukani na kwenye masoko zikacngezeka. : ,

mnmmwmmmmmmumm Maafa
ahyommmhmpmmw’mmkmmﬁm:ma,mmmkmamya
mmmmmrmﬁ;mnﬁm-mmmmmmmmu
kupata si cha kuiba.” :

M@ﬁmﬂfm&nmﬂmmmmmmwmﬁumm
UKIMW] ma joks likaws masngamizi yaliyolétwe na madhsra ya UKIMWL Wanakijifi waliathirica pa
hqmmohﬂochammﬁkmmu&mbq;Wmmmkﬁmhkanﬁh

Mkmahmnmbﬂﬂwummkmyammmnmmxmemmfmﬁn
yakcwahm&hkmhlwmhmdhm



31

_,-D Mka:nem humbnriymyoyakmh
-Bmhuamndukam zilmnmkah a sebabu

B wapuuzaji na watabiri

'B.- kulikuwa na starche nyingi katika masoko

. D. wapuuzaji na wenye tamaa

Mkazeni alikawa karimu kwa sababu -
A. alitabiri mambo mengi bila chuki -~
B. aliwatabiris watu mambo bihhmﬁ;uha

ma.bmmnapom wumﬂanish&
A. Mkazenisi intabiritena’ . .
B. ‘'wanaushukn atabiri wa Mkazeni
C. hawautaki utabiri wa Mkazeni

A. watu wengi walikuje kutafuta utabiri wa
30 friistin _ X

C. Tujueni ilikuwa kituo cha mapumziko cha

. madereva wa matrela - .

D. Tmumiﬁ;uhhnammadu!vawammdn
makubwa.

Watu wengi wa Tujueni walikuws ni:
A, wenye tamaa na watabiri

C. wenye tamaa na malezi b;nra

Kulingana npa taarifa hii, * UKIMWI
uliendelezwa sana na:
A.mdawammapnnamamla
B,wafany'm:hmmyemamlammsm
C. madereva . wapitiso katika vitwo vya
D.wmzimyemﬁhtpanmli

Baada va Mhmhpm tess alichulcua
hatua zipi?

A *hﬁﬂmnﬁﬁmmmtotw-
B.nhhﬁamumpum’inkmpa

C. Aﬁmup&m-‘impummkmdeh

D. Aﬁnmwmmm

40, Kictiwa kifsacho zaidt kuelezea kifungu hiki it

.4 mumwlhnuenimmbmuhe




'Smmm#'ahukiﬁatquumub#mpdam

: : Mﬁmmm@mmnﬂam Hata hivye pi jambo la kusikitishs
kmona kuwa baadhi yetu tuna fikira zisizo za kizeieado kuwa wengine. ndio wanaopasa. imicndeleza nchi. Watn
mamahuhnm;nmhhknwnfuymhﬂnahk szaﬂmbumhmuhm,p,mnmfanymmm
yangu?

Imfumkumbukckmmbnmh:mkmndmmbodnmﬁnmhhmmwmbumkm

kmbachmbohnhohmnkwmdamm Tanahitaji kuwa na bidii za mchwa 2a kujenga kichugun. Towe
mmnojawanyuhambao ppomvunnhewadoxohudmhkutzngﬂﬂaaahﬁnhyohumﬂaamm

Mmmmnmnknﬂ:mqammmmumrﬁmmnwmmmhmmmm
mn&Tuhmh@pmopMmkaﬁﬂomgymymkﬂﬁbathukmbnbkmh_

bid 1 i il 72 iz il Mt walodim e Y it 1 zatishl Hilino
mgWakﬁanyaMyo,Mhhbﬁmnabaaknm.mhah&awsdmem ;

e, L

: mem@mnhokmmﬁWmhmammﬁm,mmem,um
mmnmmmhﬁhWMEﬁnhUﬁbﬂmmghﬂhmmmop&&hhm
pia katika michezo. Kwakumiblmmﬂmoyamdhanahatayakmmmkmmmddmndnm
knnhmummadumv{ako Isitoshe, unaweza kushirili. katika shughuli za kuzoa taka katia mtaa lio karibun
naahuleyako Uhfanyamvyomummﬁhamowauihhwakuhﬂadhmamm :

: Sehmummshambammhtaykmbughnﬁhw&hmmdem L:dzayahiwasd:munmm
rutuba, vijana wengi basds ya kupata masomo huhisri kuhamia mijini kutafuta kazi zegve badhi Mashamba
yameachiwa wazee na bila shaka mazao yamekuwa haba. Hebu tujiulize, je, ikiwa sisi vijana tutaziacha
nhmuwﬂ:mhhmkmgme,umﬂhymm?lqhatwmhmchﬁumcbﬂuumnhm
haifai chochote? Ni vyema tukumbuke kuwa ikiwa tunataka knsaidiwa kuendeleza sehemu zetu, ni lazima sisi
mmmwuymmwnhkwmmmmumkmmMmmhmmm Shimé

mnnganekmmpuﬂnyem.



41.

42!

. Katika

Maéndeleo ya nchi yanahitaji

A. kushughulika kila mara katika kilimo
B. ushirikiano wa kila mwananchi

C. kmot;:_a_;u serikali kufanya lolote

D. watt wengine kuendeleza nchi

Watu walio na fikira za kizalendo ni wale:

A. wanaotarajia kusaidiwa kila mara ;
B: wmowatakawengmekmhughuliha

" miradi ya maendeleo

€. mmmwmmfnnymmninchl

D. wasiopuuza wajibu wao katika kuendeleza

. Nchi ni kama chombo cha usafiri kwa sababu:

A. wananchi wasipoiendeleza nchi itazorota

B. bila chombo usafiri haufanilkiwi

C. wananchi wasiporudl mashambani nchi
itazorota

D. bila wasafiri nchi haifamikiwi

Binadamu wanalinganishwa na nyuki kwani

A. wakiwa na bidii nyingi wanaweza kujifaidi
Wao na wengine

B. nyuki wana umoja japo ni viumbe wadogo

Cwahwanaumo;anab:dumnm-

Kujifaidi wao na wengine -
D. nyuki umchwawmbxdumkum

kifungu,

ukweli wa methali, “Kinga na kinga ndipo

moto uwakapo” ni: .

A. wjmkmamkanasotchuhmhkaﬁh
michezo

B. wote kurudi mashambani na kulima kwa

€. vijana kudumisha utamaduni na kuimarisha
elimu

D. ushirikiano wa
kujitahidi pamoja

Kulingana na kifungu, mat~tizo mengi

yatatatuliwa iwapo

A, tutafanya kazi kwa pamo}a bila kuzingatia
tofauti zetu .

B. sote tutakuwa na vipawa tofauti tofauti

C. -sote tutajibidiisha katika masomo yetu

D. tutatarajia misaada kuinua hali 2a maisha

yetu.

pyuki mna wananchi

matendo yanayoonyesha

47,

49.

ng

A wmpaswamkuhughul:hamasomo :

B. wanapaswa kusoma ili kukuza utamaduni

C. wanapaswa kushiriki kuiimarisha nchi
katika nyanja mbalimbali ‘

D. wanapaswa kushirikiana wao kwa wao
I:wnmmnakwmam!nlﬂmo

Ku[mgamnahfnngumaamyam

 hadhi ni:

A knmmmhpamshahmm:kubwa ;

B. kazi zinazofikitiwa kuwa bora kuliko za
shambani

C. kazi zenye marupumpu mengi kuliko 7
shambani

D. kanmwallomclmuyajnu

Knhmamhfmsumﬁbsbmu_hmm
ina maana:

A. unaposaidiwa lazima nawe pia ujitahidi

B. ukibebwa mgongoni usilegee kamwe

C. -tusitarajie kusaidiwa bila kusaidia

* D. tukiwasaidia wengine lazima tujitahidi

mmy&bm

A. nyuki wanaweza kulisha watu wengi

B. binadamu ana uwezo wa kushirikiana

'C. nyuki wana ushirikiano kuliko binadamu

D. bmadamuwmanguvunkunhshakuﬁko
nyuki
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A. Seven million three hundred and twelve

~ thousand onc hundred and tweaty five.

B. Seventy thres million one hundred and twenty
one thousand and twenty five.

C. Seven hundred and thirty one million two
hundred and t=n thousand and twenty five.

D. Sevemty thres million twelve thousand .ome
hundred and twenty five.
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P.

What is the size of angle SQR?
A - :

B. 1+

C. 1

D. 12°

5, Whs Whaxs:hemofthamulvaimcfnmdxgnsm
the hundreds and ten thousands positions in the
number 6935822
A, 95000
B. %0500

7. Sotsi borroiwed sh 20 000 from & money lender at =
simple interest- rate of 5% per month. How: muoch it
he pay back altogether at the end of one year?

A. sh32000 -
B. sh21000
C. sh 20060
D. shi12000

- &:~The heights- in- centimetres of 10 pupils Im given
below: -

169, 173, 158, 170, 159, 171, 163, 159, 180, 167

What is the mean height of the pupils?
A 159cm

B. 1669cm

C. 168cm .

.D. 166%9cm

5. What is the next number in the pattern:
il gl Ty
- A 60
=B 72
C 84
D96 ,
10. The decimals 0-09402, 0-09042, 009024, 0-09204: ar=
to be written from the largest to the smallest. Whick
cne of the following is the correct ordeg?

A, (-09204, 0-09402, 0-09042, 0-09024
" B. 009402, 0-09042, 0-09204, 0-09024
C. 009402, 009204, 0-09042, 0-09024
D. (09024, 0-09042, 0-05204, 0-09402

11. Awmmmﬂm&swnb’m
There s a wall on one of the longer sides Four
strands of wire are to be used to fence the thooe

Eﬁ

~ remaining sides of the plot. Whar lemgth of

‘AL 4800m
B. 560m
C 40m
D. 00m



12.

13‘

14,

15.

16.

1.

In the year 2002, the number of pupils in a school
was 800. In 2003 the number of pupils increased by
40%. How many pupils were there in 20037

A 320
B. 430
C. 840
D. 1120

Apupi]inmdstoa.ddthefmc&om-.}.éind%.
Which one of the following numbers should she
choose as the least common dencminator? ;i
A 56
B. 48
C. 168
D. 336

Mukami had 135 two hundred shillings notes which
she changed as follows:

sh 21 000 into one thousand shillings notes
sh 3000 into five hundred shillings notes
sh 2000 into one hundred shillings notes and

the remaining amount of mowey into fifty shillings
notes.-

How many notes did she get altogether?
A. 67
B. 4
C. 47
D 2

A distance of 5 kilometzes is represented on a map

by 2 length of 4 centimetres. What is the scale used?
A 11125

B. 1:1250
C. 1:12500
D. I'125W0

W‘h:tnthenlueoﬂ(S’ 1‘),4-634—??
A 16
B 2
C 24
D. 114

What is the valus 'of x in the equation
1dx+4=13-27

A 6

36
7
4

5

uop

13.

. 19.

Mula sold an item for sh 9 500 and made a loss of
lMWhumlheompncuoftbsm?

A. sh11000

B. sh 9910

C. sh 9000

D. sh 8910

Twenty litres of milk was given to a class of 50
pupils to share equally. Howmnydeulltraornulk
did each pupil get?

A 04

B. 4

- G 40

21.

D. 400

What is the value of 0-6-0-4 X 0-23 - -01?
A. 0036
B. 0044
C. 0-498
D. 0-518

A certain quadrilateral has the following properties:

- Has two sets of paraliel sides

Has all sides equal
Diagonals bisecr each ou':_cr

Some angies are equal
Wlmhqud:ihmulhutbe;bovepm

An acroplane left town F at 22 30 h on Monday (3

ksi'homtomchtovmx.wmd:ditmh

town K7 .

A. Tuesday 7.15a.m.
B. Tuesday 7.15 p.m.
C. Monday 7.15a.m.
D. Monday 7.15 p.m.

What is the square root of 0-05767
A. 00024

B. 0024

C. 024

D. 24

What is the volume, in cm®, of a linder
dumaefuldmnnndhuuhtlom? me-
A. 6160

B. 1540

C. 748

D. 440



25. Mbogo snd Kihara shared some money such that
Mbogo got 4 of the money shared cut. What was
the ratio of Mbogo's share to that of Kihara?

A %3

B 31
C 34

G

What is the length of half the longer dizgona!?
A. lam
B. 4cm
C. 6cm-
D. §em

28. Samira bobght the following iterns:

Five haif-lire packets of milk @ sh 30
Tieo crates of soda @ sk 320 ;
Tieenzy five loaves of bread @ sh 23
A bartle of water for sh 25

If she had sh2000, how much moumey- did she.

remain with?
A shl602
B. sh 1390
C. sh 635
D. sh 610

ot
<

T
-

MASS (kg)
1. o
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N T 54 7 "'Ir o
4 ALY I
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ﬂMon‘E‘ue‘S‘\&d'l‘thn

‘DAYS
hwhidpancfcom:ﬁwdaysm-tas botat
consumption the highest?

A Men and Toe
B. Tueand Wed
C. Wed and Thor
D. Thur and Fri

30 A youth group arganised 2 film sliow to raise funds.

Two Imndtui and eighly men attended the &pr -
sth!mnmbuofmmmwhommdedmw
{he mumber of men, while the number of youths vax
&mmmenmbuofbothmandwom

The charges were sh'50 per adult and sh20 e

- youth. How much money was raiced?



31. in the figure below, JK = JL =25 cm and KM = ML.
, The perimeter of triangle JK1. =98 cm.

K M . 2
What is the length of the perpendicular line JM in
A. 25

|

awm)
SbN

32. Which one of the following expressions is equal to
(22 - 3b) + 5(a + 5b) ,,
- Yda -3b)+Xa+4b)

15a +10b

15a+3b

5+ 25b

6+12b

152+ 40b

lSi+2n_5

15a +2b

1%a+b -

mfonmugubluhoﬁmemmdw.d
whea one buys postal orders.

33

COMMISSION
(sh)

VALUE OF ORDER
(sh)

100-00
200-00
30000
400-00

11-00
12:00
23-00
39-00

memudmmddﬂﬂt}bypomm
Which one of the postal order combinations given
balow should she buy in order to pay the least
commission?

A. sh 400+ sh 300

B. sh 400 + sh 100 + sh 100 + sh 100

C. sh 300 + sh 300 + sh 100

D. sh 200 + sh 200 + sh 200 + sh 100

34.Anopmcylmdrmlunofdismeml4anand

height 21 cm was
the area painted? (Take
A. 3234 e’

B. 2464 e

C. 1232 em?

&Toumdu What was.

D. 1078 em?

What is the value of LU S e B
I'+q .

.p=r+2andq=p-3?7

A. 56%
B. 8L
C &
D. 204

Asha and Musa are salespersons employed by two
different companies. Asha's company pays her a
monthly salary of sh [ 500 and 2 2 1% commission
on goods she sells above sh 10 000.

Musa’s company only gives him a 6% commission

-on all goods he sells.

On a certain month Asha and Musa each sold goods |
worth sh 40 000. How much more money was Musa
paid than Asha? -
A. sh2400

B. sh2250

C. sh 900

D. sh 150

What is the value of 13 +4x3+3§?
A3

B. 3%

c. 38
D. 73

i

A pick-up whose mass is one tonne when empty was
loaded with 40 bags of sugar each weighing 50 kg
mdthreebn;sofmmmhmﬁk& ;
What was the total mass, in tonnes, of the loaded
pick-up?

A 3195

B. 3065

C. 30

D. 2195



39.1namhymc0b0ng’omn600m,whichis§oﬁhe Working Space

mce, in 3 minutes. Kyalo took § minutes to

. complete the rest of the race, : >
:’/l:;t wag the average speed for the whole tace.in 4. :;l:f %m%’mu&ﬁtﬁ:
S i ABD is a right angle.
- gt : ; ; . A
.C..3%
D. .34 [ S

40, fony two men were hired to repair a steetch of road
m 14 days. How many more men should be hired if

Aﬂth:wgrkmtobcﬁnishcdinlldlyﬂ
£ '
C. 49
D. §1
41. Th;nnmb:rafwommpasmmhabuswasw_
m“:ﬂ:mberofcbﬂc&mh:dubmmthmﬁm ] E
wom;l_m!"ﬁmsm but was § more than that of ; What s the sie of angle EDE?
. A 0
Which one of the following expressions shows the a.g
: =
wra.l::mberofpummﬂnbu? - k. o
Al 23-W+8 :
B. 21wW-38
C. 2{W+12
D, SW+24
. The graph below shows Muli’s journey from town X
to town Y. _
SEeaEEaimnmamsdnsasaseaudidne HHH
R e adithe
g
"'i"‘ h:: = o : -
200k e
istance -1 v '
mn X + Tl
ometres - ~ s
100
; M HT
it 2 8.30 9.30 10.30 11.30 12.30
Time
What was the average speed, in km/h, for the whole
journey?
A Tl
B. 70
C. 643

4
D. 443



T By
Nﬂ-_

What is the radius of the circle?
A. 2em
B 36cm
C 43cm
D. $4cm

ﬁ.mmmmfmamﬂwnm
more than the cash prics. Kalulu bought the cabinet
on hire parchase terms by paying = depesit ‘of
sh 13200 and the remaining amount in 12 equal
monthly instalments.

If the cash price was sh 24 000, Bow mmush was zach |

BEEB&
ass

1
2

> Dap>

51

‘garden is made up of 2 semicircle of

diameter 14 m, a rectangle measuring 20 metres long-
and 14 metres wide and a quarter of a circle of
radius 14 m.

qud-uudWMﬂwwyﬁnm"ﬁ
Takex =
A 742

L3
B. 665

& osir
D. 3954

47.

| 4.

Kamau, Wasike and Omollo sell newspapers. One
day Omollo sold 20 newspapers more than Wasike
who sold 10 newspapers more than Kaman.
mtoulnmbuofmwwuthﬂiwuﬂ“d'f
was 140

I Wasike sold y newspapess, which one of the -
foﬂowmgequauommnbeusedtoﬁndthambu
of ¥ sold by Wasike?

A. 3y+10=140

B. Iy+30=140

C._ 3y +20=140
D. “y+30=140 -

Mmuahm!mmwlmmnlﬂWh'dﬁha
Muta, Somo, NduumdAmyl.Mmytgti&
maney while Somo got ¥ of the remainder. The sest:

was shared equally between Nduta and Aroya.
What fraction of the money did Aroya get?

A
B.
C.
o

1
/

L= W o w3l

A tailor had 17-5m of cloth material. From- this
material she made 2 dresses each requiring 375 mof
material, and 3 jackets each requiring 24m of

What length of material remained?
l4m

B. 28m

C. 113¥m

D. 4Tm



50. An incomplete pattern is shown below.

RN
7O
RPN
SO0 T X
AL AN NN

RO ANYT 0%

- XRBIXK

Which one of the shapes below will complete the

pattern above? W :

A. B. C D -

N

X
< ¥ e

] D} L

" Working Space



" SCIENCE

I.Smdandsinlhcskmol’ahmnbodym
located in the
A." epidermis
B. dermis
C. pores
D. oil glands.

2. Mmor&erolhmugmonamnhody
produces urine?
A. Bladder.
B. Ureter.
C. Kidney.
D. Urethra.

3. The diagram below represents the reproductive
system in the female human body.

be ¢

ertifization takes place in the part labelled

bnpw
EF Ll

4. The following are some of the physical changes that
taks place during adolescence.
@) Hips become broader.
() Chest and shoulders become broader.
(iii) Pimples may appear on the face.
{iv) Voice breaks.
(v) Pubic hair grows.

Which of the changes take place in a giri?
A, (O () (v)-

B. () Gi) (iv).

C. @).w) )

D. ) (i) (v).

5. Which one of the following groups consists of only
diseases that are immunisable?
A. Whooping Cough, Tuberculosis, Tetanus.
B, Mcaslcs, Malaria, Diphtheria.
C. Dysentary, Hepatitis B, Poliomyelitis.
D. Bilbarzia, Yellow Fever, Cholera.

6. The following are stages of HIV infection:
) Window siage.
() Symproms.
(i) Fuil Biown.
(tv) Jncubarion.

. Which one of the following is the CORRECT order
of the stages?
A, (i) @) (i) Gv).
B. (iv) (i) (i) (5.
C. (i) (iv) (i) Gid).
D. (i) (i) (iv) (iD).

7. The following are effects of drug abuse:
" . (i) Rape. -
(i) Addiction
{iii) Laek of concentranion.
{iv) Trugncy.
(v) Impaired judgement.
-Which of them are all health effects?
A (i) Gi) Gi).
B. (i) (i) (iv).
C. () @) ().
D. () (iii) (v)-

8. One evening, a pupil noticed a bright heavenly body
that was not twinkling. The heavenly body was mast
Gkely
A. Satum
B. Ursnus s
C. Vemus f
D. Neptune.

9. The reason for using a biro pen cap as a pivat in the
mucuonofanmptwuedwmdmlslomh ;
the arrow
A. rotate freely
B. balance on the stand
C. 1ail show the direction of wind
D. bhead heavy.

*

10. Which one of the following statements is TRUE
about the planct Mars? It is
A. nearest 1o the sun
. B. the brightest planet
" C. pearcst 1o the carth
D. the smallest planet.



11. Which one of the following is a leguminous plant?
A. Cabbage. -
B. Maize.
C. Groundnut.
‘D. Tomato.

12. Fertilization i plants takes place when
A. a pollen tube entérs the ovule
B. reproductive cells in pollen grain and ovule fuse
C. a pollen grain falls on the stigma and

germinates
D. a pollen tube enters the ovary.

13. Which of the following groups only consists of non-
flowering plants?
A. Pine, Cedar, Cypress.
B. Sugar cane, Sisal, Onion.
C. Cedar, Moss, Kale.
D. Carrot, Cassava, Cactus.

14. Which of the following groups of plants have the
same type of root system?
A. Tomato, Maize, Peas.
B. Bean, Black jack, Cabbage.
C. Groundnuts, Rice, Sugar cane,
D. Millet, Cassava, Carrot.

15. Which one of the following parasites destroys wool
in sheep?
A. Mites.
B. Lice,
C. Fless.
-D. “Ticks.

16. The toothless gap in the lower jaw of herbivores is.

for
A. tuming plant material in the mouth for proper

chewing

B. holding food material

C. allowing space for more food

D. preveating the animals from biting their
tongues. ¢

17. Which one of the following animals has the same
number of legs as the tick?
A. Weevil,
B. Crab.
C. Scorpicn.
D. Cockroach.

18. Which one of the following is a filter feeder?
*. A. Kingfisher.

B. Hawk.

C. Duck.

D. Sunbird.

19. Which one of the following is NOT an immediate
sign of ill health in Hvestock? .
A. Coughing.
B. Blood in stool.
C. Rough coat.
D. Loss of weight.

20. Which one of the following is a method of softening
hard water?
A. Filtering.
B. Boiling. .
C. Decanting. -
D. Sieving

21, Which one of the following practices will help to
prevent the spread of cholera?
A. Spraying chemicals in stagnant water,
B. Wearing protective shoes when passing through

water.
C. Drinking filtered water.
D. Covering pit latrines after pse.-

22. Which one of the following NEED NOT be the
same-when investigating drainage in different types
of soil? ‘

A, Amount.ofaoilmthefnmwls.

B. Size of funnels.

G Sueol‘bonleswlbdmgthedmningwater.
D. Amount of water added to the funnels.

23. The following are effects of soil erosion:
(i) Small holes in the ground
(ii) Top layer of soil missing.
(iii) Small and shallow channels in the ground
(iv) V-shaped trenches in the ground.

Which effects are as a result of splash and rill types
of erosion?

A. (i) and (iv).

B. (i) and (i)

C. (i) and ().

D. (ii) and (iv).

24. Which of the following liquids mix?
A. Kerosene and water.
B. Water and milk.
C. Milk and kerosene.
D. Cooking oil and milk.



25. The diagram below represents a setup that can be
used to demonstrate a certain property of metals.

— Ruler
) -:/,:C"W“i e
]
Candle :
* Weight _3 ——Support
]
Jor [ 1

Which property of metals was being demonstrated?
A. Metals expand when heated. ‘

"B. Metals bend when heated.

C. Solids conduct heat. .
D. Hot metals are pulled down by weight.

. A pupil investigating a certain aspect of pressure in
_ & liquid used a setup shown in the diagtam below.

(  Tincan
Hole

Water jet

What conclusion could the pupil make from the
TR T

A. Air exerts pressure on the surface of a liquid.

* B. Pressure in a liquid increases with depth.

C. Pressure in a liquid is equal at the same depth.
D. Pressure in a liquid is exerted on the sides only.

The temperature at which a substance freezes is the
same temperature at which the substance

A. condenses

B. ./aporates

C. boils

D. melts.

Which one of the following consists only of
substances that have no definite shape but have
definite volume?

A. Stone, kerosene, carbon dioxide.

B. Oil, toothpaste, glue.

C. Clay, flour, cement.
D. Nitrogen, oxygen, water vapour.

29.

31.

=)

The diagram below represents a setup that can be
used to demonstrate heat transfer in air.

P 1 . Burning
: paper
—-ﬁ —— Paper tube B

Carton
box

For the demonstration to work a burning candle

must be placed at
AP

=]
n=mo

The percentage of the component of air that is fixed
by bacteria in root nodules to make nutrients for the
plant is : :

A, 0:03% . :

B. 09

C. 21%

D. 78%.

Which ohe of the following is the last step when .
separating a mixture of sand and salt?
A. Dissolving.

B. Filtering.

C. Evaporating.

D. Decanting.



32. Thedupambdowmowsauonehunsthm
using 2 catapult. i

Rubber band. -

Stone

Thfomofmrgymthembbabmdhdomth
stone is released is ;
A. kinetic

C. chemical
D. sound.

Which one of the following is CORRECT about a
solar heater? A solar heater changes

A. heat energy to electrical energy

B. light energy to electrical energy

C. chemical energy to heat energy

D. light energy to heat energy.

Tall buildings are fitted with sharp pointed metal
rods at their tops and connected to the ground. The
rods are for

CA. mmnguuhnﬂmpapMI@m;

B. mmmmmm@
C. fixing aerials for radics and televisions

D. allowing expansion of walls during hot weather.

Which -one of the following is TRUE about the
rainbow? It forms

A. before heavy rainfall

B. when it rains while the sun is shining =~

C. when the sky is coverad with thick clouds

D. when it rains in the afternoog. -

Which one of the following energy transformations

takes place when a radio that uses cells is operating?

A Chanml-#elccuica.l-bmwm-hhnm—»
sound. .

B. May:umc-edmwal-ehnm-mhunhll—»
sovnd.

C. Electrical —» chemical - kinetic — magnetic —
sound. g

D. Kinetic = chemical — electrical - magnetic —
sound.

Which one of the following sources of energy DOES
NOT contain chemical energy?

A. Car'battery.

B. Bicycle dynamo.

C. Food. :

D. Firewood.

b

38. Hutm:hnmfwtofammwdbythende
of a fire by
A. conduction and convection
B. mdiation only
C. convection only
D. radiation and convection.

39. Which one of the following DOES NOT pollute tae
‘H -

A, Exhaust gases from acroplanes.

B. Smoke from burning charcoal.

C. Smoke from burning domestic wastes.

D. Gases'Trom decaying animals.

40. The MAIN reason why it is advisable to spray crops
in the direction of the wind is to avoid
A. the chemicals petting into contact with the skin
B. wastage of chemicals
C. polluting the air
D. inbaling the chemicals.

41. The following signs and symptoms were observed in
- a certain child:
(i) Thin and weak.
(ii) Wrinkled face.
(i) Pot bellied.
(iv) Hungry and crying a lot.

'I‘hed:ildwnmoﬂhkdymﬂ'mg&om

42. Which one of the following groups consists only of
foodstuffs that protect the body against diseases?
A. Lemon, cabbags, carrot.
B. Beans, groundnuts, fish.
C.  Maize, potatoes, rice.
D. Meat, orange, spinach.

43. The purpose of salt in food preservation is t0
A. remove water
B. add flavour
C. remove air
D. lower the temperarure.

44. The most likely reason why some expectant mothers
crave for soil isto -
A, hnubmnmitkpmhmmaherdahm
" B. ipcrease appetite -
C. help in digestion of food -
D. provide sufficient mineral nutrients.

45, Which one of the following levers when in
the position of the effort between the load

bas

use
and the



'46. A singe fixed pulley

A. changes direction of force
B, increases effort distance
C. reduces effort required

D. reduces load distance.

47. The diagram below represents a tyre of a vehicle.

. Treads

The purpose of treads in the vehicle tyre is to
A. make them last longer

B. increase grip on the road

C. reduce surface area

D. make them lighter.

48. The following activitics are carried out when making

a beam balance but not in the correct order:

(i) Suspend the arm 1o find balance point and mark.
(i) Make u base, a stand and the arm.
(iil) Fix the stand and the arm to the base.
(iv) Suspend tins on both sides of the arm.

Which one of the following is the CORRECT order
in which the activities are carried out?-

A. (i) (i) (i) (iv).

B. (ii) (i) (iii) (iv).

C. (i) (i) (iv) (3).

D. (i) (i) (i) (iii).

49. Which one of -the following statements is

CORRECT about a stone thrown a few metres
directly upwards by 2 passenger in a moving lorry?
The stone will fall

in front of the person

behind the person

on the person

behind the lorry.

onmy»

50. The diagram below represents a certa

The weed is

“A. Pigweed

B. Mexican marigold
C. Black jack

D. Oxalis.
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Study the map of Mula Area and answer guestions 1 to 7,

1. The general direction of flow of river Mula is from
A. North to South-East. -
B. North to South.
C. South-East to North.
D. South to North-East.

2. What is the approximate length in kilometres of the
railway line shown on the map?
A. 14-5 km.
B. 13-5 km.
C. 12-5km.
D. 11-5 km.

3. The main economic ectivity carried out in Mula
Area is
A. mining
B. farming
C. lumbering
D. trading.

4. Three of the following services are available in Mula
town. Which one is net?
A. Heaith.
B. Administration.
C. Recreation.

D. Security.

5. The climate of the area between Muke and Wema
g markets is likely to be
A. hot and dry
B. cool and dry
C. cool and wet
D. hot and wet,

6. The school in Mula town wishes to enlarge -its
compound. Which one of the following government
offices should the 'school approach for more land?
A. The District Education Office.

B. The Municipal Council Office.
C. The District Officer’s Office.
D. The Chief’s Office.

7. A trader in Wema market urgently wishes to order
for goods from a supplier in Mula town. The
quickest means of placing the order would be
A. ta post a [etter to the supplier
B. to drive to Mula town
C. to make a telephone call to the supplier
D. to send 2 messenger to Mula town.

8. Which one of the following pre-historic sites in
Eastern Africa is correctly matched with the country
where it is located?

Pre-historic site Country
A. Koobi Fora — Upganda
B. Hadar — Kenya
C. Ishanga — Ethiopia
D. Olduvai Gorge — Tanzania
9. Traditional artefacts afe kept in museums because
A. they are symbols of cultural heritage sy

B. they are symbols of national unity
Clhcyamuscdformumdm;hardworkn‘
citizens

D. they are for export.

The diagram below represents a type of mountain. Use it to
answer question 10.

10. Tre type of mountain' represenited in the diagram
was formed as a result of
° A, [auling
B. folding
C. volcanicity
D. erosion.
11. Which one of the following is the least 1mportam
benefit of Mt. Kenya?
A. Tt provides stones for building houses.
B. Its slopes have fertile soils for farming.
C. It helps in the formation of relief rainfall.
D. It is a tourist attraction.

12. Leopold Sedar Senghor Qomnbuted to democracy in
Senesal i
A. introducing French culture in the covatry

B. allowing the formation of many political parties

C. introducing military skills learnt during the
Second World War

D. forming a cabinet after becommg the first
president.

13. Below are some characteristics of a type of
vegetation found in Arxwt
(i) The trees are medium'height.
(ii) The trces shed their Icavcs during the dry
seasons.
~(iii) Some trees are u.mbreﬂa-shaped.
(iv) The vegetation is ? mixture of grass and trees.

Thnvmuonumhkelytob:foundm
A. steep mountain slopes

B. equatorial coast linds

C. the Sahara desert :

D. the Nyika plateau.

14. In which one of the following ways is a person likely
be infected with HIV and AIDS?
sharing injection needles with an infected

1.
shaking hands with an infected person.
sharing clothes with an infected person.

to
A
B.
C
'D. By playing games with an infected person.

By

By
By
By
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18, Which one of the.following was a resson why the
Mau Mau uprising took place in Kenya?

A. The Africans were demanding the establishment
of schools. ;

B. The Africans were opposed to the comstruction
of the y. 5

C.The Afias wem agakst the Bridgs | 21+ Thelown marked Jis
Constitation. B Ki

D. The Africans we.e demanding the return of their Czﬂ:

; land. o1, - D, Dar-es-Salaam.

19. Itisimpom‘mfori:mnciﬁautn‘m&min;the 22. Which coe of the following routes did the River-
A. it shows their loyalty to the president s o Frarnbcy o g
B. it enables them to remove political leaders A.an!..u : periodt

whose work is B. Route 2.
C it shm their obedience to the -electoral C. Rouie 3.
commission - D. Routt 4.
D. it enables the government to-know people’s level {
of education. ] _23_.~Tn§gg_1_;m_milthe_ﬂtdedmmﬂedx
20. Below are some characteristics of  type of soil: i &
@ It contains fittle humus. B. Coffes
(H It allows water to pass through easily. C. Bananas
{if) Its particles do not hold together when D. Sugar cane.
The.type of scil described above is 24. The inke marked L is
A. black cotton soil ‘Auhﬂg:
B. -alluvial soil B, Lake
C. sandy soil C. Lake Tanganyika
D. loamy soil. D. Laks Malawi.
25; Thres-of-thefollowing sre ways through which the
mm'whmﬁﬁcﬂlmm
Reating nd writng
Singing and dsncing

Uowpe

§§.
g.
£
i

S



26.

27.

31

3.

One of the reasons why -African countries formed

the African Union (AU) was 10

A, fight against crime in the continent

B. assist m the election of leaders for member

states

C. re-draw the boundaries of member states

D. bring greater economic cooperation in the
continent.

Which one of the following statements is trae about

clans in traditional African societies?

A. They were headed by wealthy people.

B. They were formed by people from the same age
group.

C. They were made up of people with a common
ancestor.

D. They were made up of warriors.

Matatu accidents in Kenya have become fewer in
recent years. This is mainly because of the
introduction of

A, safety belts

B. speed governors

C. uniform for drivers

D. rules against ovetloading.

A pupil has been sexually abused by a stranger on
the way home from school. The immediste action for
the to take is 10 :

A. inform the school about the matter .
B. advise the pupil to avoid talking to strangers
C. ensure that the stranger is arrested

D. take the pupil to the hospitat.

Children are expected to take part in family duties
because ;

A. it prepares them for future roles

B. it promotes their physical development

C. it is a sign of respect for their parents

D. it helps them develop courage.

manmmmmmm

~ (i) Diatomite.

(i) Copper.
(iii) Fluorspar.
(iv) Diamonds.

Which combination of the minerals listed above is
mined in Kenya?

A. (i) and (D).

B. (ii) and (iii).

C. (i) and (iii).

D. (ii) and (iv).

Which one of the following Human Rights is
enpyaibyl(enyaaﬁumonathmgthen;eofla
years?

A. The right to vote.

B. The right to worship.
C. The right to life,

D. The right to secarity.

33.

7.

O

In which one of the following ways have the Maasai

pastoralists benefited from govemment support?

A, They are given money to buy animal feeds
during the dry seasor.

B. Towns have been buiit in the grazing areas to

ide market.

£ animals have been removed to create more
land for g

D. Bore holes have been drilled to provide water in
the grazing areas. 1

Which one of the following statements is true about
the policy of assimilation in Senegal?
AAsmmhmd Africans worked om Buropean

B.:sﬁmﬂmmmmmry

Wi,

C. Assimilated Africans could be voted to the
French National Assembly.

D. Ammihwdhfrmmmnﬂmmhnwthﬂr

own parliament.

The main reason why the government encourages
afforestation in Kenya is to

A. create employment opportunities

B. protect the sources of rivers

C. increase the supply of firewood

D. create more areas for wildlife to live in.

Which one of the following colours of the national
ttgofmyamprembhndufplmty?

Which one of the following statements is true about
ria?

A. Tt has hot springs.

B. It is a source of minerals.

C It provides water for irrigation.

B

D. It is used for fishing.
InKmya.jmtnemldmmMedhy
A. the Armed Forces
B. the prisons
C. the Judiciary
. the Cabinet.
Whichmofthel‘u!lnmngl{nnymmmmmuuu
correctly matched with its traditional leader?
Commuzity Ludu
A. Akamba
B. Agiriama Mlhnlih
C. Nandi . Masaku
D. Abagusii Samoei



53. thubmuughtbyhdmammdmu
bunch of ripe bananas from a farm near their
molmmamlﬁdouforthepnpdlto
take is to
A. report Ngao to the headteacher
B. ask Ngao to give the bananas to a poor family
C. share the bananas with Ngao ‘
D. punish Ngao for this bebaviour.

54. The governments of Kenya and Swaziland are
] similar in that

A. the winning party in elections forms the
government

Dam River
A. Kariba dam River Tana
B. Akosombo dam River Zambezi
C. Aswan High dam River Nile
D Masinga dam ‘River Vo!ta

C. encouraging formation of cooperatives to sell
D. constructing roads to the fishing areas.

57. Below are statements sbout a political party in
Kenya.
(i) Its chairman later became the country's
president.
(ii) Tt was once the official opposition party.
(iif) It joined with the other parties in 2002 1o form
NARC

'I'hepohtm.!pa.rtyd:ﬂ'fbdahmuthn
A. Democratic Party of Kenya
B Ford People
C. Kenya Social Congress
D Liberal Democratic Party.

58. Which one of the following was the reason why
COMESA was established?
A To introduce a commen  currency for the
member states.
. To expand the border towns in the region.
. To promote the use of 2 common language in
the region.
. To remove import duties on trade goods from
member states.

59. Three of the following are beaefits of democracy.
Which one is not?
A.- It dllows equal distribution of land.
B. It allows formation of many political parties.
C. It allows citizens 1o choose their leaders.
D. It allows freedom of speech.

U Om
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60. Below are some factors which determine the location
of industries:

D. mo av) m
PART II RELIGIOUS EDUCATION

SECTION A:
CHRISTIAN RELIGIOUS
EDUCATION

61. Which one of the following made God
chase Adam and Eve from the garden of Eden?
A. Speaking to the snake, -
B. Eating of the forbidden fruit.

62. Whoamngmfoﬂowmgpeoplemukedbyﬁod
to give his son as & sacrifice?
A. Abraham.

B. Noah.

C. Moses.

D. Jacob.

63, From the incident when Joseph welcomed his brothers
ml!gyptcnmlﬂmﬂmdqdmldhe
A
B. obedient
€. kind
D. repentant.

64. The Jews celebrate the Passover feast 10 remember
when
A. they were given the ten commandments
B. Moses was called by God
C. Noah built the Ark
D. they were delivered from Egypt.

65. Which one of the following commandmenss shows
respect for human life?
A. “Do not steal.”

66. Whoumon]ﬂiefo!lumngkmpofimelmok
Naboth's vineyard?
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67. F:omthc:toryofl{mg&ﬂumonth:hatgnﬂom

can ask God for is
A. wisdom

B. riches

C. protection
D. courage.

68. Which.one of the following statements is true about

of Jeremish on the New Covenant?

A. The laws will be written on people’s hearts,

B. The Israelites will serve God as priests.

C. God will pumish children for the sins of their

Tulmumsémbeﬁm:memmﬁm

§

§§

69, Who among the following prophets foretold that the

i
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i

73.

B
Unm?ﬁg Unwmp

75.
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I 1

be born in the town of Bethichem?
‘.A._Am g et
B. Micah.
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mtanybodymknowﬂnmﬁsagc

‘told not to tell anyone else
believe in the message,

to _kill Jesus when he was bom
that Jesus would
from paying taxes
Jews to another religion
as ruler of the Jews
from geing to the synagogues.

gwmmhmgmamdym do
show -of it” (Matthew 6: 2). Which
¢ following values do Christians learn from
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Which one of the following parables of Jesus teaches
Christians to take care of people with special néeds?
The parable of the

EE‘E&

an'ﬂhmhmﬁbmthcbuﬁngoflhe
is that they should

Goed-in prayer
rightzous in their daily dealings

to be happy in life

the art of thankfulness.

Whmbutm:adthﬂhwmﬂdmhlfofhia
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85.

Which one of the following activities best shows that
Christians are disciples of Jesus Christ?

A. Laying of han

B. Giving offerings.

C. Speaking in tongues.

D. Preaching the gospel.

The main reason why Christians condemn
prostitution is because it leads to

A. unwanted pregnancies

B. street children

C. misuse of sex

D. break-up of families.

The best use of leisure by Christian youths would be
w0

A. visit their friends

B. listen to music

C. help the elderly

D. play games.

You and your friend James are on duty to sweep the

classroom. James has refused to sweep saying that

there are workers employed to keep the school clean.

As a Christian what action would you take?

A. Tell him the advantages of learning to do
various jobs.

B. Get the workers to come and sweep the
classroom.

C. Report James to the class prefect.

D. Discuss James' behaviour with your friends.

You have noticed that your friend Philip has been
going out of school during class time and you would
like him to stop. As a Christian you should

A. go and tell his parents about it

~ B. show him why it is important to respect school

rules
C. threaten to end your relationship with him
D. report the matter to the class prefect.

Mary, your schoolmate has joined a group of youths
who smoke cigarettes. What would be the best thing
for you to do?

A. Report her to the class teacher.

B. Advise her to move tg another school.

C. Avoid any contact with her.

D. Tell her to stop the relationship.

SECTION B:

ISLAMIC RELIGIOUS EDUCATION

61.

Which one of the following Surah must be recited
when performing salar?

A, Al-Kafinm.

B. Al-Fatiha. -
C. Al-Asr.
D. An-Nasr.

62,

65.

67.

Which one of the following quotations is mot taken

from Surah Fatiha?

A. “Therefore turn in prayer to your Lord and
sacrifice to Him.”

B. “All the Praises and thanks be to Allah the Lord
of all that exists.”

C. “The only owner and judge of the Day of
Resurrection.”

D. “¥ou alone we worship and from you alone we
ask for help.”

A whole Surah that teaches on the Oneness of Allah

18

A. Al-Falag :
B. Al-Kauthar

C. Al-Tihlas

D. An-Nas.

The incident of the destruction of Abrahah’s army
narrated in Surah Fil teaches that "
A. Allah forgives sin

B. birds are dangerous creatures

C. elephants should be destroyed -

D. Allah protects His own.

Which one of the following is a teaching from Surah

Kafirun?

A. Muslims should perform re;u!a.r prayers.

B. Muslims should be patient in times of
difficulties.

C. Muslims should be prepared to defend their

~ D. Muslims should be faithful to their religion.

Which one of the following is an Islamic rule on

eating?

A. Eat the food when it is hot.

B. Start by reciting Bismillah.

C. Recite Alhamdullileh while eating.

D. Foed should be eaten in a standing position.

Which one of the following words completes the
quoted Hadith? “The generous man is nearer Allah
nearer Paradise, nearer man and far from .

A. Hel

B. home

C. the truth

D. the Last Day.

Which one of the following Hadith condemns

corruption in society?

A. “The curse of Allah befalls on both the giver
and the recipient of a bribe.”

B. “Whoever bélieves in Allah and the Last Day
should not annoy his neighbour.”

C. “Tell the truth even though it is bitter.”

D. “Whoever is not thankful to people is not
thankful to Allah.”

On which one of the following occasions is a
Muslim »ot required to pronounce the Kalima?

A. When a person converts to [slam.

B. When a person is getting married.

C. When a baby is born.

D. When a person is dying.



70. Which one of the following is 2 compulsory act of | 79. Najma arrives at school and finds that the other
- pupils are at assembly, What is the right cause of

waachhu? =

A. Rinsing the mouth. action for ber to take?

B. Washing the nostrils. - A, Go for the assembly and sxplain to the teacher
C. Washing the palms. why she is late.

D. Washing the feet. - B. Go home and come to school carly the
71. Who among the following categories of people are C. Hide until the assembiy is over and then g6 to
& Widows:.. D. Go to class and wait for the other pupils.

C. Travellers. 80. Musiims can best help beggars by providing them
D. Debtors. with
: A food
72, An activity of Haj which reminds Muslims_of the B. employment
patience of Hajar is ; C. shelter
A running between Safar and Marwa D. clothes.
B. stoming the Jamareat : . A |
C. spending the night at Muzdalifa | 81. Which one of the following is mot an Isiamic
D. going round the Baaba. teaching oo the treatment of orphans?
! A. They should be provided with basic necessities.
73. Which cae of the following is a pillar of fman? B. They should be accorded compassion.
A. Praying five times a day. C. They should be given Zakar if they are poor.
B. Belief that Allah exists. - D. They should have part of their property donated
C. Paying of Zakar. to charity. i
D. Performance of Hajj ke > : -
_ __ : ; 82. Which one of the following activities is performed in
T4, What is the duty of Angel Mikaeel? the Mosque?
A. He is responsible for blowing the trumpet. * A. Drama.
B. He is respomsible for bringing messages to B. Trade.
" Prophets. / C. ltikaf.
'C. He is in charge of questioning the dead. | D. Twawaf.
D. Heis in charge of rainfail. H ;
: ,. 83, Which one of the following is true about Saiatui
7S. Nabi Iorahim was thrown into the fire because he
A. disobeyed his father A. It has four rakbir.
B. worshiped the stars / B. It has ndea.
.C. destroyed the idols C. It has two Khutbah
D. prayed facing the Kaaba. D. It has

one of the following is the main reason why | 84, Abdalla who owns a shop gives the following

76. Which
. Allah created man according to the Holy Quran? business practices as his secrets of success. Which
A. To give charity 1o the needy. one of them is allowed in Islam?
B. To worship Him. A. Hiding goods and seiling them at a higher price
C. Ta observe fasting. later. :
D. To take care of the plants. : ) B. Allgwing peopie to take goods and pay later.
C. Selfing goods after their expiry date.
T7. Three of the following are similarities between fdd D. Lending money and charging interest on it.
and Friday prayers. Which one is not?
A. ‘They have two rakah. 385. Which onc of the following acts of /fbadah is
B. They have Khutbah. performed by Kenyan Muslims during Fddul-Adha?
C, They are performed in the morning. - A. Saayi.
D. They are performed in congrzgation é h?hlwa‘
78. When is the duz Alhamdullilzh rec:ed? D. Sleughtering of animals.
A. Before entering the toilet +
B. Before meals. 86. The year AD 630 when Muslims conquered Makka
C. When slaughtering an animal without bloodshed is referred to as
D. After completing a task. A_ the year of the eiephant
B. the year of sorrow - —
C. the year of peace
D. the year of suffering.
&7. The Musiims lost in the battle of Uhud because
3 A. of the strong winds
H B. they were &=w i
i C. they disabeyed z::3 Prophet
D. they had inadequate wenpons. )
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Which one of the following was a result of the |

persecution of early Mushms in Makka?

A. Strengthening of Islam.

B. Promotion of ido? worship.

C. The spread of Islam stopped. .
D Muglim population was greatly reduced.

Prophet Muhammad built the first Mosque at
A. Jerusalem .

B. Qubaa

C. Sanaa

D. Makka.

Whe among the following European nationsls were
driven out of the coast of Kenya by the Muslires in
17292 :

A. The Dutch. -

B. The Iislians.

C. The Spanish.

D. The Portuguese.

11
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